SOUTH EAST CENTRAL RAILWAY

WRITTEN EXAMINATION TO ADJUGE SUITABILITY FOR THE APPOINTMENT ON
COMPASSIONATE GROUND IN GROUP [PAPER-I]

I TSRO H g (TG TRITURI TR [ UUR-1]

Time / 9T : 03 Hours / T Date / f&=1idh :12/02/2024 Total Marks / $d3{db - 100

Instructions / GFl%"«’r :

1. This question paper contains 100 objective type questions. All the questions are compulsory
in nature. All questions carry 01 mark.
SYY-TFAH 1009 8ue [qiussfants mfiusolsiaar |

2. The question paper has been divided into two parts i.e. Part- A (to be answered in English
language only) and Part- B (to be answered in Hindi or English).

YOG U S TAHTT-Y (S HTN A STaTa e TSI alg) SR HTT- ot

(RIarsiciAvarefeamsTwdre) SfauafearmarR |

3. Use of calculator, mobile phones and any other electronic gadget is strictly prohibited in the

examination hall.

Hagpaey, AlERab RGN eragaa e v B UaN IR TR [auufaa ids |

4. Candidate will attract disqualification if found using any foul means.

SHIGIRATG D IS HUCYURITYTB ST R ATARIT AT 18 SIS g B UG 1.

Part-A (English Language Test, to be answered in English only)

Directions (Q-01 to 10): Sentences are given with blanks to be filled with appropriate word(s).
Choose the correct alternative out of four given alternatives.

1. 1 came America.

A) from B)at C)in D)on
2.1 cold.

A) am B) have C) had

3. car is very old fashioned.

A) Fatima’s B) Fatimais C) Fatimas
4. | speak English but he
A) doesn’t speaks B) doesn’t speak

D) is

D) Fatimas’

C) speaks D) don’t speak
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5. Nowadays everyone internet.

A) had used B) uses C) used D) use
6. there anybody in the room?

A) Are B) is C)am D) if
7. How many siblings ?

A) do you have B) you gotten C) did you had

8. What___ you doing?

A)is B) are C) am D) if
9. Which book is ?
A) your B) your’s C) yours D) your is

10. She is home.
A) at B) in C)on D) from

D) both (A, B)

Directions (Q-11 to 20): Choose the correct synonym of the given word.

11. BRIEF

A. Limited B. Small C. Little D.
12. ALERT

A. Energetic B. Observant C. Intelligent D.
13. WARRIOR

A. Soldier B. Sailor C. Pirate D.
14. DISTANT

A. Far B. Removed C. Reserved D.
15. FAKE

A Original B. Imitation C. Trustworthy D.
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16. CONSEQUENCES

A. Results B. Conclusions C. Difficulties D. Applications
17. IRONIC

A. Inflexible B. Bitter C.Good-natured D.Disguisedly sarcastic
18. BARE

A Uncovered  B. Tolerate C. Clear D. Neat

19. REPEAL

A Sanction B. Perpetuate  C. Pass D. Cancel

20. HARBINGER
A Messenger  B. Steward C. Forerunner  D. Pilot

Part-B (to be answered in Hindi or English)

21. 999 F31 3R I BT &l b1y T gt 2

What is highest and lowest two digit number?
(A) 99,009 (B) 10,99 (C) 99,10 (D) 99,11

22. 3489 W4 P AYR I FT g2
what is the face value of 4 in 3489
(A) 4 (B) 40 (C) 400 (D) 4000

23. 313,33,303,331 ! §¢d HH H AR

Ascending order 313,33,303,331,°?

(A) 33,303,313,331 (B) 33,313,303,331 (C) 313,333,303,33
(D) 331,313,303,33

24 . what is HCF of 12,24 »
(A) 12 (B) 24 (C) © (D) 2

25. what is LCM of 10,20,25 2
(A) 100 (B) 20 (C) 5 (D) 25

26. 1/21="?
(A) 1/2 (B) 1/5 (C) 1/3 (D) 3

27 3/5-2/5+1/5="?
(A) 2/5 (B) 1/5 (C) 1/3 (D) 5

28 . FYs & guft FION 1 AT e BT B2

what is maximum value of all angles in triangle?
(A) 90 (B) 180 (C) 360 (D) none

29 .RWW@WWWE&‘II ?what is diameter of circle radius R?
(A) 2 R (B) Pi R (C) pi R"2 (D) R"2
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30 .6 ﬁﬁ@%ﬁﬁﬁg%qwmmm?what is angle between hour and

minute clock on 6:00 7
(A) 180 (B) 360 (C) 600 (D) 120

31 .420 PI36% - 350 PI56% = ? - 94
(A) 48.2 (B) 49.2 (C) 138.8 (D) 158.8

32 .130 PI2 & = 11.7
(A) 9 (B) 0.9 (C) 0.09 (D) 90
33. 2324 dYUYT 8148 GﬂIﬁﬁﬂqﬂﬂﬂﬂﬁﬁﬁaﬂTéPH?, What will be the HCF of 2324 and

81487
(A) 69 (B) 84 (C) 28 (D) 38

34 . V625 + V484 = »
(A) 56 (B) 47 (C) 52 (D) 35

35 . V2 - 34 = 4484

(A) 56 (B) 65 (C) 2631 (D) 3136
36 . Wl : W2 =2 : 3QYwWl : W3 =1 : 2 Bldlw2 : w3 = 2
(B) 2 : 3 (B) 3 : 4 (C) 4 : 3 (D) 4 : 5
37. Ufda B160% = B HI3/4 BIAA : B = 2

(A) 9 : 20 (B) 20 : 9 (C) 4 : 5 (D) 5 : 4

38. Iﬁaa/3 =Db/4 = c/7 éﬁﬁa+b+c/c =7
(A) 2 (B) 7 (Cc) 1/7 (D) *

39. QI 3P HTANT 25 TA 3R 13§ <l 3 3! BT [UHHA FTERM2I£ the sum of two
digits is 25 and the difference is 13, then what will be the product of
these digits?

(A) 325 (B) 315 (C) 104 (D) 114

40. UH A fHl ¢ Bl 10 e T HR IHdT € IUT QRT3 15 e A 1R TohdT g df gl 7d 39
H Dl fPa e AR EMN215 one tap can fill a tank in 10 minutes and the

other can fill it in 15 minutes, then in how many minutes will both the
taps fill the tank?
(A) 12 (B) 6 (C) 11 (D) 9

41. 0.000033/0.11 HTHMR ? The value of 0.0000033 / 0.11 is
() 0.003 (b) 0.03 (c) 0.00003 (d) 0.3

42, TR - TS IHTSIRIBATE? Which of the following is a prime number?

(2) 33 (b) 81 (c) 93 (d) 97

43. UQJHQHHHHMIH\WIG%W@TH? What will be the average of the first ten even numbers?
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(@) 10 (b) 12.5 ©) 9 (d) 11

44. AfGQ Hrd SR, J HIRIUTE, T H13RI UHD HRK HISRIg URTEATAIB0 K 2 Q 3

6 T5="7If Q means 'to add’, J means 'multiply’, T means 'subtract’ and K means 'divide by' then 30
K2Q3J6T5="

(A): 29 (B): 28 (C): 35 (D): 40

45. TfE= B3, — BT3MYF +, x BIIAR_3MR + B3+, NG TRTRTEHZT? If + means x, —

means +, x means — and + means +, then what will be the value of the following?
20+4x6-5+7=?
(A) 28 (B) 32 (C) 34 (D) 36

46, FRfIRITHAH S IHTSIRRSAT] ? Which of the following is a prime number?

(A) 8 (B) 9 (C) 11 (D) 15

47. EI’% 0=90° ?‘ﬁ sinB- cosO =If 6 =90° then sinO- cosd =

(A) 0 B) 1 ©)-1 (D) %

48.5+3\2 §:

(A) GRAT AT Rational Number (B) 3TRET TBT Irrational Number
© W Integer (D) sﬂ'ﬁ | ?b;]?gc 8! None of the Above

49. ¢ o TUT B TGO IGUG x 2+ X — 2 B LAD Bl dl, 1/ o+ 1/ p DI A NI
If o and B are zeroes of the quadratic polynomial x 2 + X — 2, then the value of 1/ o+ 1/ B will be:

(A) ¥ (B)—1/2 (©1 (D) 2

SO.Hﬁx:a,y:b?ﬂﬂmx—y:Zﬂmx+y:4$wﬁﬂa@?b$ﬂﬁm: %

If x =a,y = b are solutions of the equations X —y = 2 and x + y = 4, then the values of a and b are
respectively:

(A) 3,5 (B) 3,6 ()31 (D)-1,-3
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51. 39 YRAAT DI GW : 36, 34, 30, 28, 24, ... AT I AT TBAT T AMEY?Look at this series: 36,
34, 30, 28, 24, ... Which number should come next?

(A) 20 (B) 22 (C) 23 (D) 26

52. 3 A DI GW : 22, 21, 23, 22, 24, 23, ... AT DI AT ABAT T AME?Look at this series:
22,21, 23, 22, 24, 23, ... Which number should come next?

(A) 22 (B) 24 (C) 25 (D) 26

53. T, ST &t 98 § fawy ot ami | S SIS &1 O § iR w0 o1 srdsan v | R
3R 31\3I-1 & da 1 g %’?Sima is Jagdish's daughter-in-law, Vishnu's sister-in-law. Arjun is
the son of Jagdish and the only brother of Vishnu. What is the relation between Sima and Arjun?

(A) ToR] Fg-ICousine (B) A« Sister-in-law
(C) Tal Wife (D) S8 Sister

54. Tfe KICK T KCIK forRaT STTdT 8 MAAN &1 NAAM foraT Sirar 8 @ GooD &1 & foran

OITEIT ? If KICK is coded as KCIK, MAAN is coded as NAAM then what will GOOD be
written as?
(A)ODOG (B)DOGO (C)DOOF (D)DOOG

55. gf¢ sid ®d 9 &l fa- Igd AJaR o7, df TREl DI-1 fa= 81T 21 two days before yesterday

was Sunday, what day will it be the day after tomorrow?
(A). dUdIR Wednesday (B). [2dIR Thursday
(C). }[PdIR Friday (D). UREIR Saturday

56. Tfe H IR 1 3R 3T T 1Y TR WS 7, ol I8 Farsh for 08 e few fazn @ g 21

I am standing with my right hand towards the north, then tell me in which direction is my back?
(A). G40 - gd South-East (B). T4 East
(C). TfgH West (D). STR-UEH North West

57. TS ol ¥ 991 § IR A ¥ BIeT g | Gl Afied I 981 § R 91 4 Blel g1 df qad
dgl DI % ?Manoj is older than Munna but younger than Cheeku. Munna is older than Sohil but
younger than Cheeku. So who is the biggest?
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(A). ST Manoj (B). TAT Munna (C). didCheeku (D). Ifgd Sonil

58. TS &l GC Dl ‘v'ljsgc 72 del § fovda gadmr T SN [ How many revolutions will the hour hand

of a clock complete in 72 hours?
(A) 4 (B)S (C)6 (D)7
59.3TR USRI HT A& TG TGS, U ¢ dl Ao &1 Yaiy Faferiea & 9 e §21f Uttar

Pradesh is related to Lucknow, then Rajasthan is related to which of the following?

(A) STIYR Jaipur (B) gdileldlq Allahabad
(C) IR Raipur (D) 3¢ U= Andhra Pradesh

60.fo : =T - YIdsh . ? Image : View :: Book : ?
(A) TR Buy (B) Y¥dhIeld Library
(C) UeHT Reading (D) forgn Writing

61. ‘W@T’?ﬁ@ﬁ%\qﬁﬁ?ﬁ? Who discovered 'gravity'?
(A) Tg&T Newton (B) SAfh Dolphin
© A& Lord Colnel (D) Sl Lord Kranz

62. aﬁwﬂ-ﬂ?ﬂwqmﬁmlﬁ% Which state is located on the easternmost part of

India?
(A)SISUTIAYCRT Arunachal Pradesh (B) ISTRIFRajsthan
(C) STRUCRT Uttar Pradesh (D) USTTd Punjab

63. ﬂ@ﬂ?&ﬂ&m@ﬁ% | National Defense Academy is located at.

(A)%TI@TT Dehradun (B) UcHT Patna
(C) IR Nicobar (D) fae=it Delhi

64. GAUFH IR U dBIITATHIAA? Who was the chairman of the drafting committee of the

constitution?
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(A) 3. HITRIG3F8HDr. B. R. Ambedkar (B) HETATTIEt Mahatma Gandhi

(C) TRGRUCH Sardar Patel (D) STaTeRATa-8%= Jawahar Lal Nehru

65. TgRI~IRH P TG HURISITATE ? Which vitamin is found in lemon and orange?
(A) faerf®vitamin ‘B’ (B) faerf® = vitamin «C’
() faer®= vitamin ‘B’ (D) faeTf® vitamin <A’

N\ \e

66. &\iﬂﬂ(@lﬁf%ﬂ&lﬂlﬁ'\i@Ed@lr(\*lwdlﬂiawwlag? Arjuna Awards are given for excellence in
which field?

(A) f&=4T Cinema (B) 1fe Literature
© @ﬁ-@ Sports (D) fa3I Science

67. RABTUHHEIIGAHIUTEE__ | Earth's only natural satellite is__.
(A) d-=Hl Moon (B) RIsh Venus
(C) T Saturn (D) HTdMars

68. ﬁ[&ld’)iﬁd{-lcbdl-lﬂlqlxﬂldlg? When is Teacher's Day celebrated?
(A) 5RIdeR September (B) 6°7d%sR November
(C) 105/HaxT January (D) 15 3T August

69. q-WT:FN@XIH&?I%'? The national flower of India is?
(A) THAT Jasmine (B) [Tl Rose

(C) HHM Lotus (D) FTHABIZHITET None of above

70. 4RI [P aRATTITIdg? Dhanraj Pillay is related to which sport?
(A) BT Hockey (B) fohdre Cricket
(C) BedTd Football (D) FISSIKabbadi

71. fraaSHHGTART BTG 3MUT? In which year Mahatma Gandhi was born?
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(A) 1870 (B) 1869
(C) 1871 (D) 1872

72. W@Pﬁwﬁﬁﬁﬂﬁ' The scale to measure atmospheric pressure is-
(A) iecHIeR Voltameter (B) fefiHiex Millimetre

© SRR Barometer (D) SHTHICY Decametre

73. AT g fadep el ? Who appoints the Chief Minister?
(A) TYTTHAT Prime Minister (B) J1FUId President

(C) T Chief Justice (D) ISTUTA Governor

74, I@WTIG[‘EJI:N%- The capital of Manipur is-
(A) ITHTA Imphal (B) PITgHT Kohima
© éEI:HR Itanagar (D) %EQIEHE Hyderabad

75. Lc1|<-|n|or>|gq§d9®|§&ﬂw? When did the battle of Plassey take place?
(A) 1757 (B) 1756
(C) 1758 (D) 1759

76. aﬂ%aq@idwd‘lwusé- The planet closest to the Sun is-
(A) 71 Saturn (B) I® Jupiter
(C) R[sh Venus (D) 94 Mercury

77. P ®IMgTYegH1E8? Which of the following is an input unit?
(A) AT Mouse (B) B1-a1S Keyboard
(C) TR Scanner (D) TTHITHT All Above

78. 1 fpdiamge (KB) fPaagecdharIaRsIds? 1 Kilobyte (KB) is equal to how many bytes?

(A) 10249T3< Byte (B) 1024HTTETSE Megabyte
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(C) 10247 iQ dIgC Gigabyte (D) ﬁﬁ@lﬁéﬂ‘sﬁ None of above

79. %dll-lnllraadﬂ-iddﬂdl%diado-ﬂl-ld&llm? What was the real name of Swami Vivekananda?
(A) fdd®g Vivekanand (B) IX&TYGT Narendranath Dutt
(C) Tda Devdutt (D) PGt Krishna Dutt

80. lﬂ?ﬂ'ﬁw\’:ﬂmmqﬁﬁ&ﬂ? In which year did the train start in India?
(A) 1953 (B) 1853 (C) 1895 (D) 1858

81. HRAHGEH g R-aTA A ™8 ? Which is the longest distance train in India?
(A) ASTYTHTIRIUY Rajdhani Express (B) RI<Ted TTRIUN Shatabdi Express
(C) fadH TRV Vivek Express (D) THSNATTRIOT Samjhauta Express

82. Hlﬁdﬁq\ﬁmwlm\l*ldwlg? What is the slogan of Indian Railways?

(A) AFBISIGRT Life line of the nation

(B) APHIBRATETSH Action Road of the Nation

(C) UTHATHRIS Road of National Service

(D) 3 Other

83. q-INd&mldrl-ll--l{lguiaor?l--lg’? Who is current President of India?
(A) Ram Nath Kovind IFTY®Ifdg (B) Droupadi Murmu aﬁuaﬁari
(C) Narendra Modi F<=&HIG! (D) Pratibha Patil UfdHTCaIRIgdTicd

EN

84. HRABIqHMIaqHATDE? Who is India's current Finance Minister ?

(A) Smriti Irani F{f?l%f'{l:ﬁ (B) Droupadi Murmu ﬁﬂaﬁ'@i
(C) Nirmala Sitharaman ﬁﬁﬂﬁw (D) Pratibha Patil gfaurediigared

85. HRAHG B d-RITE? How many states are there in India ?
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(A) 28 (B) 29 (C) 30 (D) 35

86. WWW@HW” How many Union Territories are there in India ?

(A)7 (B) 8 ©)9 (D) 10

87. @q&ﬁmﬁmﬂ@@lﬁ%? Statue of unity is situated in which state ?
(A)TSIRId Gujrat (B) XSTRITRajsthan
(C) STRYGET Uttar Pradesh (D) USTTE Punjab

88. &Hﬁgﬂﬂﬁ%ﬁm iav{-li\-ll-l-lltllxﬂldlg? On which day 'International Women's Day' is
celebrated?

(A) 8| March (B) 8RA%! February
© NG January (D) 831X August

89. m&mmﬁ? Where does most of the processing take place in a

computer?

(A) TEIEIS Motherboard (B) AR Memory (C) CPU (D) RAM

90. 6Td>r‘|d>|\s1lg*|<ia°@|d°6<\1§? Who is called the magician of hockey?

(A) ﬁWﬁVijay Kumar (B) HHLSTSamresh Jung

(C) HSReOTaEMajor Dhyan Chand (D) STHIB IS8 none of these
91. HIQd&)dcTHHQﬂH?I“I@H%? Who is the Railway Minister of India?

(A) YRS TIaPiyush Goyal (B) dIefdT&dLalu Yadav

(C) 3MfyawrgAshwini Vaishnav (D) THIRMEAmIt Shah

92, TP A b 1T th G Ug [eRITaRITcl g ? What does the white stripe of the national flag tricolor

indicate?

(A) BT I3IRITEVolution and Truth (B) WW@CouraQe and Growth
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(C) ifaeiRT=SPeace and Truth (D) 3{=Others

93. RaRwpa (Richter Scale) Wﬁmﬁ%’? The Richter Scale is used to measure what?

(A) Wﬁ?ﬂﬁ?ﬂthe intensity of the earthquake
(B) AP ITIA) the speed of the wind
© ﬂﬂiﬂﬂ%ﬂéhe depth of the sea

(D) YRRBIATY the temperature of the body

94. ﬂdiig‘\lql-l\ﬂgilrad{-lwdl-lﬂlqI\ﬂldl%? When is International Labor Day celebrated?
(A) 1HRaRIPlon st February (B) 19rI®lon 1st March
© 130 dPlon 1st April (D) 114%@ on 1st May

AN

95. @Id)%lﬂldﬂd“—l‘]ddl%ﬁldd)%Qﬂzlﬁdl-ldbldql%? What is the minimum age to be a candidate of Lok
Sabha?
(A) 25 (B) 30 (C) 35 (D) 18

96. TRTTERTSTHRIG UG RIS [BIHEIUT? Who said that Swaraj is my birthright?
(A) TEEATIYBTHR Ravindra Nath Thakur (B) b HETITddHLokmanya Tilak
(C) dIcfTefsIUdR L ala Lajpat Rai (D) HeTdNTigMahatma Gandhi

97. ARG AGITHEITRE? How many oceans are there on Earth?
(A)6 (B)9 ©)5 (D) 4

98. AKAM HTIUREUGITE? What is the full form of AKAM?

(A) TSTHTHTHIASHToday's work today

(B) SHTSTEIBTSdHEIIdAzadi Ka Amrit Mahotsav

© 3T hTHEITRithe great sacrifice of freedom

(D) PIgTsinone
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99. QW@WWWW%? What is the core of the Earth's innermost part

made of?

(A) HW@WWCopper and Zinc  (B) AP eraiRaTaNickel and Copper
(C) ABT3IRSIXiron and zinc (D) BT3RS Iron and Nickel

100. q%a“rq@:raﬁwaaa%? Are there day and night on earth?
(A) SAFBTfabBRIBecause of daily motion

(B) ATIHIIHHROT due to annual motion

(C) BHTENAd®RUIdue to half-way speed

(D) fAHTE NP IRUT Because of quarter motion

*********************************End********************************************
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